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OBJECTIVE 2—-a: To identify the graph of the solution set of an inequality.



Why Was Professor Clabberhead Utterbunk
Holding Up a Piece of Bread ?

Solve each inequality below. In the answer column, find the inequality
that describes the solution set and notice the letter next to it. Print this
letter in each box at the bottom of the page that contains the number
of that exercise.

(1) 5x+2>3x+10 © n=s
(@) 8+2x=<6x-20 @ o
(3) 4x+49<9-x ® x<-s
(@) 9x-99=18x © n<-3
(®) 3(x—4)>15 & 1o
(6) 28<4(5-2x) ) x<10
(7) 3@n+1)=4n+9 (D x<-11
‘ 3n—10=<7(2+n) @ o

@—4(2n—6)<n+6 ®n<—2
2(7n—1)=3(5—n) @ n=>3

@7n—2(n+5)<3n—16 @n<—5
@9 4(1-3n)—14>4(2n+3)-9n H) x>9

OBJECTIVE 2-d: To solve inequalities containing parentheses
192 © 1989 Creative Publications and/or having the variable in both sides.



